A5 Al yall

sl asle acd

) Julaill 5 dae ) ida

Al ) ) gl

Exponential Functions: 4«¥) Jial .1

Function in .
Example MATLAB form Operation
>> exp(0)
ans = exp(Xx) deay) i)
1
>> log(1)
ans = log(x) In (oruhall ot jle Sl Al
0
>>1ogl10(2)
ans = log10(x) 10 b o jle Ul Adla
0.3010
>>log2(2)
ans = log2(x) 2l il Sl Al
1
>>pow2(3)
ans = pow2(x) 20D 3 @ ) a8l Adly
8
>> sqrt(4)
ans = sqrt(x) Al sl Al
2
>>power(3,3)
ans = power(X,Y) X D &d ) Al
27
Trigonometric Functions: 4Ll J) 5a).2
Jia b AAta) A
MATLAB
>> sin(5)
ans = sin(angle) sin Al
-0.9589
>> cos(5)
ans = cos(angle) cos Al
0.2837
>> tan(5)
ans = tan(angle) tan 4l
-3.3805
>> sec(5)
ans = sec(angle) 1/cos 4l
3.5253
- C_SC(S) csc(angle) 1/sin A\l
ans =

20
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-1.0428
>> cot(5)
ans = cot(angle) 1/tan 4all
-0.2958
>> asin(5)
ans = asin(angle) sin Al (s sSaa
1.5708 - 2.29241
>>acos(5)

ans = acos(angle) cos Alall L Saa
0 +2.2924i
>> atan(5)
ans = atan(angle) tan Alall s sSaa
1.3734

>> asec(5)
ans = asec(angle) sec Alall L Saa
1.3694

>> acsc(5)
ans = acsc(angle) csc Il Saa
0.2014

>> acot(5)
ans = acot(angle) cot ANl L sSaa
0.1974

Josad a2l g ¢« Radian degree Lf)f:\ﬂ\ a8l dulaa o3le ) AR ) gall &ex -t dBada*
s Bk O Sl Sy aild degrees Glaall b sl
sind JSEIL sin Al GiKs Sliac Ala ) Ji d sl ALl ;A gY)
DA JE LS (pi/180) haially A 2855 Sy 5) 5 0 ey -2 45
>> sind(30)
ans =
0.5000
OR
>> sin(30%(pi/180))
ans =
0.5000
iy A1 S5 8 Tl e ol ) I Sl all s (e Rl sl
s Sl JEal A LS (180/pi)
>>sin(30)
ans =
-0.9880
OR
>> sind(30*(180/pi))
ans =

21
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-0.9880
—2 oadal eV as) Aoty MATLAB geebise o8 Ay sl 1) Jy a3 oy —; ASIAY 45y phat)
Gl I (radians ) 4 k8 Caai 45l 30 dy sl a1 138 a2y -: rad2deg -1
. (degrees )

Example:-
There are 180° in n radians :
>>anglout=rad2deg(pi)
anglout=
180
Cuai adll ) ((degrees ) Claoall (e 4l dasad) pa¥) 18 aadin -: deg2rad -2
. (radians ) kil
Example:-
Show that there are 2 radians in full circle :
>>2%*pi — deg2rad(360)
ans=

/

Routing & Remainder functions : 48015 yssill Jiga o

1-fix :- Round toward zero

Ex:-
>>a=[-1.9,-02,34,5.6,7.0,2.4+3.6i]
a =

Columns 1 through 4

-1.9000 -0.2000 3.4000 5.6000

Columns 5 through 6

7.0000 2.4000 + 3.6000i

>>fix(a)
ans =
Columns 1 through 4
-1.0000 0 3.0000 5.0000

Columns 5 through 6
7.0 2.0000 + 3.0000i

2-round :- Round to nearest integer
e dae @) ) cy el Al
Ex:-

>>a=[-19,-0.2,3.4,5.6,7.0, 2.4+3.61]
a =
22




AUl dds yal) o asle aud a2l Jalatl) g dava ) i

Columns 1 through 4

-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>round(a)
ans =
Columns 1 through 4
-2.0000 0 3.0000 6.0000
Columns 5 through 6
7.0000 2.0000 + 4.0000i

3- floor :- Round toward negative infinity

bl g N A (oo ) bl AU aladly oy N A

Ex:-
>>a=[-1.9,-0.2,3.4,5.6, 7.0, 2.4+3.61]
q=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>floor(a)
ans =
Columns 1 through 4
-2.0000 -1.0000 3.0000 5.0000
Columns 5 through 6
7.0000 2.0000 + 3.0000i

4- ceil :- Round toward positive infinity
o) a3 Cu il A | (o0 ) sl AlgSDUN slasi il Alla

Ex:-
>>a=[-19,-02,34,56,7,24+3.61]
q=
Columns 1 through 4
-1.9000 -0.2000 3.4000 5.6000
Columns 5 through 6
7.0000 2.4000 + 3.6000i
>>ceil(a)
ans =
Columns 1 through 4
-1.0000 0 4.0000 6.0000
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Columns 5 through 6
7.0000 3.0000 + 4.0000i

5- rem :- Remainder after division

Al (e AL Al

R =rem(X,)Y) if Y ~=0, returns X — (n.*Y) where n = fix(X./Y)
Ex:-
>>rem(8,5)
ans =

3
>>rem(8,8)
ans =

0
>>rem(8,10)
ans =

8
>>rem(-1,20)
ans =

-1

6- mod :- Modulus after division
Al (e AL AN

M = mod(X,Y) if Y =0, returns X-(n.*Y) where n =floor(X./Y)
Ex:-

>>mod(13,5)

ans =

3
>>mod([1:5],3)
ans =

1 2 0 1 2
>>mod(magic(3),3)
ans =

2 1 0

0O 2 1

1 0 2

Note:- magic(n) returns an n-by-n matrix constructed from the integers 1
through n”2 with equal row and column sums .
>>magic(3)
ans =
24
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H W o
O U -
N N O

Notes:-
e rem(X,Y) for X~=Y and Y~=0 has the same sign as X.
e mod(X,Y) for X~=Y and Y~=0 has the same sign as Y.
e rem(X,Y) and mod(X,Y) are equal if X and Y have the same sign, but

differ by Y if X and Y have different signs.

Ex:-

>>rem(-5,2)

ans=

-1

>>mod(-5,2)

ans=

1

7-sign :- Signum function
- BJUI:\J\ adla

1A il G dall ey S Jas el 280 IS 1A
1A gl bl eyl Juapall W S 13
0 A il o sl ) (g sbsa Jusyall 281 IS 13)
Ex:-
>> sign(0)
ans =
0
>> sign(-9)
ans =
-1
>> sign(0.1)
ans =
1
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Complex Numbers: (4i8ad) ) 48 ) 32

sae3 ¢ ja s Real Numbers 4iiall slae MW e ja aal 65 4 s33a) 5 dapa 4 jall slac Y1 24l
Al dalal) 3 ) geall e <35 Imaginary Numbers d:basl)

7=X+Y*1
Jie S jall dlae V) e Slilaall (o el o) s e MATLAB gl Jesy
(X)) el 2aal) e (Al e Gall Al ]
(Y ) Soal aaadl e Juall e el s 2
;A0 A8a) (e Ll ) Ll Jgmnl) 2y shall dyg) 3 alay) 3
Imaginary part )

ngle =tan™!
angle =ta ( Real part

Al A8l J3A e Lgle Jeand) a5 Absolute Value 4alkaall dadl) alasl 4
Absolute Value =/ x2 +y 2

7 S all aaal Al Jaal 3ar b LS el ) clleall s i 3 Ol sl (sl (S g
>> 7=2+41

7=
2.0000 + 4.00001
Example Operation MATLAB form
>> real(z) o siiall e jall Alagy aadind
ans = Z &S all 22al) real(z)
2
>> imag(z) 2R FEN PN BN PP
ans = 7 &S yall 222l imag(z)
4
>> abs(z) 2221 dallaal) el alagy aadins
ans = z Sl abs(z)
44721
>> angle(Z) phase _shll 4l ) Aag¥ adius
ans = 3,0 7z S all 22U angle
1.1071 radian o/l
>> angle(Z) angle(z)
ans =
1.1071

<= degree &V radian (e pa8il) b et g cila Al shall 4y ) ) Al Qluad ; 3aa Sl
. 180/pi Llaaally 435 3 4

- b L AYMATLAB 4al el e Sl / JUa

26
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RPPRIFEN P EN

.g._asjd\m:d\&ﬁbd\@ﬂ\

coskhl Ay

C=5 +v=9 +13 Ll S ) anall

w

Ex:-Write MATLAB program to calculate the following:-
1-Real part

2-Imaging part

3-Absolute Value

4-Angle phase for complex number

C=5+v-9+ 13

Sol.
>>C=5*gqrt(-9)+ 13
C=

13.000 + 15.000 i
>>real (C)

ans =

13

>>1imag ( C)

ans =

15

>>angle (C)

ans =

0.8567

>>angle (C) * 180/ pi
ans =

49.0856

OR

>>rad2deg (angle (C))
ans =

49.0856

>>abs (C)

ans =

19.8494
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MATLAB gzt gAYy JAN) sl )
Input I/P & Output O/P Commands
: input JAaMN Al
L5 3 a5} Bpaae by Jaa) (alla€ 2Ll e andiall duai 3l ) jnput seY) gab

s oidlll o gall (sasl e input B2 IPRER) .E.A';l.ul\ 48y gaxie
doase Gl JWa s Yy

X=input('displayed strings')

oo el aadiiall g jo o dnal Alla ) Jiad LK (0 4o saas o :Displayed strings
Alad Ja) a3 aiall g X ¢ Llanh ariivaall o g il il

>> x=1nput('x=");

I 3l
B X Aad Jaal (pal
IRECIR

X:
X =5
b il il JAssU 5L Akl e Liage o3 JASY) 5 e ariiud Akadle
8 g ).&Ltaﬂ Jlay 43.1‘)2 ccua\_a‘).\ﬂ J:ts.ﬁ IS aie slaxall e:\sﬂ_a eSA:\M MATLAB C..ql_a‘).t
(A ad ellel (S o3 JASY) Ayl alasiuly (K15 s s (S Y AilS T Jaad

5ylpallda o e Jaaall yadal) o) Je Jail duai Al y (e je 93 ) jall da jy Jaay JUk
>> T=input('"Enter the temperature')
Enter the temperature

12 S5 ) pall da 50 Jiay 63 T A Jlaaly o8 odlef dlaall | seds 2ay g

12
Lay iy JAY 3 L

X=input("displayed strings','s")
438 all 3 SN (e Jriusall o 830 (Gt apaad 8 UL & 5 3aaS ady ¢ (string) 4elS e
bl A 5al) 3_SIAD lan) axe e de by Laa eyl

5 k) (uiially Bl 5 51l a3 () e o e Al (e 24551 e
>> T=input('enter the measure of temperature ','s")
enter the measure of temperature

Celsius ¢ ) oabiall (S35 Gabiall Jal 28 o3le ) dlaall ) sl 22y
T=
Celsius
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disp/display/fprintf : I AY) sl
JAU\}“ J‘);Aadahg,ﬁz\:\m.\j\ Q\M\ j\ C'_}\‘):\’_"Ld\ ;W\}H&ua‘)ﬂc\);y‘ ‘)A\}\ e.liﬁuﬁ
. Command window
dual o) dpaae GlS o) gu a8 Huatall Aad e A disp =¥ padiuy 2 disp »¥) |1
o peall san) o Y1 13 aaSi

disp(x)

disp('displayed strings')

Crra (il Gia el (SN a1 aodding Wiy X paiall 4ad (i jal Jo¥) 5eY) aadien Cus
. single quotation marks (Ll Jiedle (p allAal L

420 dad a pel 1 Jlie
>>x=100;
>> disp(X)
100
OR 8 il paciall o) S, )
>> X
X =
100
OR (ad pal (a jal
>> disp(' the value of x is ')
the value of x 1s
A AL L emil) il 5 2aaa) Al s (S
disp(['messege',num2str(variable)])
) Aaall dadll Gy a3 ) numerical to string 5 s num2str Al aaa8ud Sus
. (H\M\)M@J\MQJM\W\ ;&L\gadﬁuﬁjc:\,}éﬁduh
>> disp(['the value of x is ',num2str(x)])
the value of x is 100

display(x)
~4ls « command window 33U e 4iad A x juaiall aul G el eV 138 aadiig Sua
p oadall Galliall TasY 1 AVl 6¥ (il (i) geall (s pral sl (5 5al)

>> x=5;
>> disp(x) %display only variable value
5
>> display(x) %display variable name and value
X =
5
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.l (e Bk 8 G BaY (168 n ki sala sualic gaan il s ) 4 i/ Jlie

>> disp(ones(3))

1 1 1

1 1 1

1 1 1
>> display(ones(3))
ans =

1 1 1

1 1 1

1 1 1

Al 4 ghaall jealic ad (i e el W18 disp(ones(3)) oY) piiinl Ladie 4il Jaad
ans o=l y8Y) o) sl ya jm @u),d\ 28 display(ones(3))_<¥! pasiul Laie Wl Laas
gl a5 o ones(3) oo Aadlll 4 shiaal) (380 (pae e s a5 ol aadiudll (Y
A3l 48 ghiaall jualic af (ya

-:fprintf (File Print Format) »% .3
FONIN] ol ‘_g fg_h)ﬂ\c command window L ch C._ut"\.\l\ iclily MJA\J\ Jaa e.:iiu,g
et (S DUl autil duulial) 48y ylal) sl WiSey Cus format  Geeiill (= fprintf
. Lgde) 8

fprinf('text') AUl Laually (i HaV) Gl al Huxidell dlls 8
: b

>> fprintf('the amount of precipitation is')
the amount of precipitation is
-2 Al Al S W1 G el dafly pai jpeidebib Al GE L)
fprintf('format string', list of variable)
. oxdall dnaell Aol G@A variable W/ ¢ cllull 51wt Us format 4els (9
- aalldl) Aaall a2aiud format Couettl) C._xm).\l
fprinf('text % -3.1g',variable)
Adelia o jall (il Jiag text
FuSuMMbAJAJS\\JAU\&;)ut_\MJc@)J\ B el Aol Jiad %
AL\;S\ a&@@&d\}wdﬁu&u\u&mum\umja
‘;Lﬂ\ JJM\@@A}A&Sc “—’BM‘LSMPSA-‘MUAM: BJUJ:‘}]\ -

3l il el
8l s Y MATLAB

ind o

! Dbl a8 313laa
%-4g for 1 results in 1xxx
%-5.2f e s bl oK 2l o) 6 |

>>fprintf('%-5.21,9)

0:00 == s e sl @1 A1 O s daall (e

X e b
>> fprintf('% +52f,9 e R (]
+9.018>> (‘% ) | o4t5.0f © o) lS el g a5 L3 kg |
>> fprintf('% 5.21,9) | % 5.2f Salldeldl dig) gl iy "
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9.00>>
-
o oprinti(%603-289) o405 21 el G Yy sl gy |10
dicbls (Say 2o JB) Jiay s Jasl) (i je Sy 3
300wl e ) yall dae Jiag N
L a8 LS ) Fhn el aaitiis O Al Al L - g
>>3=5.5; / Jla sl el
>> fprintf('%d',a) A2 Anhd SIS el gy
5.500000e+000 Loie S 13 4 : %d
Sde S dyl Al
OR | OS T mea awS anly,| O
5.000000>> fprintf(*%d',5) %1
5 ENEN
>> fprintf('%e',a) A aldiily Al La
, %oe
5.500000e+000 e 5 yrall (o aY)
>> fprintf('%E',a) s ahadiiy 4l Apa %
5.500000E+000 E 5 Sl Ca Al
TS
§>5 é‘ggggf( %f',a) (s rtall ) ial 30a)) i o4 f
>> fprintf('%g',a) ¢ Iobaisl S e g f G Aapa
. %g
55 2028 dmplad ga LaS daall el
. ; OR
>> fprintf('%G',a) U3 (e Goue e gl mna %G
5.5 LY Al alasi) 0
>>n="MATLAB';
>> fprintf('%s \n',n) i a Alulu ok | V08
MATLAB
: Jla

>> fprintf('the amount of precipitation is %g',0.6)

the amount of precipitation is 0.6

O e Al % Aadlall Llnia g &5 the amount of precipitation is il Juaill dclila o3

G G S 0 S0 o) s g}j\gw\jﬁayedﬁuﬁdygﬂ\ SEPRIRTE STOCRRPRENA PPN

G e paiall dad JA) (K15 0.6 (5 s ()5 aciall A Linada g o5 ¢ 11 (il JaDle
Al dad e Yy Az g g e
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- ‘g\ﬂ\ Jsaall ‘_g LS fprintf Y & Ol jaal) Gl 40U &\..4!\ ehi:mﬂ o

i) =5l MATLAB 4xua; Y bl | Al
fprintf('hello")
hello fprintf("n’) Al Cady 0
bye g]gr)rmtf( bye'") N
>> fprintf('hello \n bye')
fprintf(‘hello")
fprintf("\t") Al & iy
hello bye fprintf('bye") A 4 slse 438l \t
or Tab
>> fprintf('hello \t bye')
fprintf('hello")
fprintf("\\")
hello\bye fprintf('bye) \ JSa) gk \
or
>> fprintf('hello \\ bye")
fprintf(‘hello")
: nNo/ !
Hello%bye gg%g&g’e)) 0 Jall puky | \%
>> fprintf('hello \% bye'")
—: i) jleda) ARy pha B AANIA Al ALaY) any o
Program Results
clc the format for d
a=[12 55.5 43 1; 12 5.550000e+001 43
fprintf('the format for d')
fprintf("\n")
fprintf('%d \t',a)
clc the format for 2.2d
a=[12 55.5 43 ]; 12 5.55¢t001 43
fprintf('the format for 2.2d")
fprintf("\n")
fprintf('%?2.2d \t',a)
clc the format for e
a=[12 55.5 43 1; 1.200000e+001  5.550000e+001
fprintf(‘the format for ') 4.300000e+001
fprintf("\n")
fprintf('%e \t',a)
clc the format for 2.2e
a=[12 55.5 43 1]; 1.20e+001 5.55¢+001 4.30e+001
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fprintf('the format for 2.2¢")
fprintf("\n")
fprintf('%?2.2¢ \t',a)

cle
a=[12 55.5 43];

fprintf('the format for f')

the format for f
12.000000 55.500000 43.000000

fprintf(‘the format for 2.2f")

fprintf("\n")

fprintf('%f \t',a)

clc the format for 2.2f
a=[12 55.5 43 1; 12.00 55.50 43.00

fprintf("\n")
fprintf('%2.2f \t',a)
clc the format for g
a=[12 55.5 43 1]; 12 555 43
fprintf('the format for g')
fprintf("\n")
fprintf('%g \t',a)
clc the format for 2.2g
a=[12 55.5 43 1; 12 56 43
fprintf('the format for 2.2g") e 3o Y il Gy
fprintf("\n")
fprintf('%2.2g \t',a)
- @m\ @AU,\S‘ m @U KR
command Results
fprintf('%d %f %g | 5.500000e+000 5.500000 5.5

%2.2e\t',5.5,5.5,5.5,5.5)

5.500000e+000

x=97.5;
fprintf('it "works"%g %%of the time\n',x)

1t 'works'97.5 %of the time

x1=10;

x2=2;

x3=x1-x2;

fprintf('Difference of %g and %g is %g
\n',[x1 x2 x3])

Difference of 10 and 2 is 8

matrix=[12 3;4 5 6,7 8 9];
fprintf('+--—+_-_+___+\n.);

fprintf('| %g | %g | %g |\nt---t--—+---
+\n',matrix");

PRI
[1]2]3]
ettt
|4[516]
bt
[ 71819
TR TR
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-2 fprintf sa¥) aladialy clityd) Biat dila ) cily Al As il o

AE (9 Lagd seledinl) (Say Cala oLl alill Gla A Laad fprintf e paddiey
1o G SN 0 alal) sl ¢ (5315 e el
fprintf (' filename', ' format string ', list of variables )

e.g.
fprintf (' myfile ', '%g "', x)

. myfile 4w cale I x dall Jus

Ex:-

>>x=0:0.1:1;

>>A=[x ; exp(x)];

>> fileID=fopen('exp.txt','w");

>> fprintf(filelD,'%6s%12s\n','x','exp(x)');
>> fprintf(filelD,'%6.21%12.8f\n",A);

>> fclose(fileID);

>>type exp.txt

x  exp(x)
0.00 1.00000000
0.10 1.10517092
0.20 1.22140276
0.30 1.34985881
0.40 1.49182470
0.50 1.64872127
0.60 1.82211880
0.70  2.01375271
0.80 2.22554093
0.90 2.45960311
1.00 2.71828183
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